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. Polar Coocdinates
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from X,Y_ +o Qe.
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Evaluate +he volume behween:

£ = 25- x*-y* |
and +he xy-plane, '
Soluhon

Skapc .




Region of

1ot e.grafl-i o

in Xy-—p!aae_:

A = -stu -3:

SM‘l 4 3=_,r

L yEts _x=2soy®
VO lume. - J J (25_x1- -.)dxdy
| Y=-f X= -J{{-:F |

o TAis fn‘l-ejra’ (s doable but
bugh Easier £ We coavert

+o polar Coordinatts,

Region of
integeration
in Yerms of -
r and 6




The cover +he eantire
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Had flxy) = 25— x*~y>
25 — r?

o 25 —r?% is He -F-Qt\c-Hon we'”_ |
i'n'\-eg(a“i.

. dxdy is replaced by rdrdb,







‘When Should I convert?

® TF€ +he (‘8330n of fn"c’ﬂrl'l'on
is Circular in Shope,

o If either x*+y? or VXt +y*
3pp€a(‘ 1o Hhe fn*|‘€3I‘Gﬁd.

o T Your in+e9mnd Cannot be
integrated as is, but o
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Raaion of

l'n‘\‘ejra-l-im _

° Heigl\-\' of #French frien iS given
- by the sphere X*+ y*+2* =4
Top of fFrench fry: Z-::,/q-_x‘z_.yz

Bo'Hbm of french fy: 2= “ﬁf-x“-—y"-.




Ovecall height rE——
 of french fry =2 ‘r-—x‘-—y’-

fx=z f‘l= f=(xX=1)"
Volume = 2‘\1‘!"‘3“-‘/‘ - dydx
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(+ be Continued.)



